Z
T

O]l & AF & & M A

20148 S0a LA MsdsSW
R s R SE=an);
Hu: EUASHE
el A= (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
H=sd s 56,862,512 53,034, 155 3,828,357
= 2,258,000
& 10,566,000
J| 10,982,756
< 32,198,756
£ 857,000
SHHMsdE 55,745,042 51,895,355 3,849,687
= 2,258,000
& 10,566,000
J| 10,982,756
& 31,081,286
£ 857,000
=M=z 15,720,600 17,609, 300 A 1,888,700
= 14,863,600
£ 857,000
T =8 sS4 & dx2e 2,139,000 1,827,900 311,100
201 Let249] 480,000 168,900 311,100
01 At 22l 480,000 150,000 330,000
OLHEN=EE g=a dXNEES S 480,000
301 et a = 1,659,000 1,659,000 0
V=t - 2sR2SE43 1,659,000 1,659,000 0
OFHN=E 54 & g2 1,659,000
ANl-Z28 H=s8 84 5,188,000 5,883,000 A 695,000
308 XXIEHH SOl A 5,188,000 5,883,000 A 695,000
01 XML EES 5,188,000 5,883,000 A 695,000
OAl - =238 =4 5,188,000
HIAME d54 & Lot=d 8,393,600 7,448,400 945,200
< 7,536,600
£ 857,000
307 gl2tol & 8,393,600 7,438,400 955,200
< 7,536,600
£ 857,000
02 RIZHANEXS 8,393,600 7,438,400 955,200
OF=(Ad)NEUHa XA 2,065,300
= 1,765,300
£ 300,000
Oz M=z X& 91,000
o3I ¥ d=F4 4,333,900
< 3,776,900
£ 557,000
OM=sdE &€& ZHuUE X 111,500
OdEXNEX 2el 555,500
OM=sz 234 1,236,400
dEHE 84 954,270 979,070 A 24,800




R s R SE=an);
Hu: EUASHE
ol HEHS 34 CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 58,000
< 896,270
COMSUHE HEXH 600,000 600,000 0
308 XXM SO A 600,000 600,000 0
01 IXNHHBNEES 600,000 600,000 0
ORM66=2l =RIMSU3 HE 600,000
I 54 K& 130,000 150,000 220,000
307 21201 A 130,000 150,000 220,000
02 2B AEXS 130,000 150,000 220,000
OZJIetH s4X& 130,000
2= 0tetE Uzl 100,000 100,000 0
308 XX EHHSOIA 100,000 100,000 0
01 HXNHHNBHELS 100,000 100,000 0
OZ=0tctEHa XA 100,000
AX =AY MEQE 2402 29 58,000 0 58,000
= 58,000
308 XX EHSOIA 58,000 0 58,000
= 58,000
01 HIXNHHBNEES 58,000 0 58,000
OAEZ=4HY MEed 24)|2 29 58,000
= 58,000
ANEHs g5 66,270 129,070 A 62,800
203 YR =2l 6,270 6,270 0
03 A BFAH S =AY 6,270 6,270 0
OHMSHMA2EZ 2,850
OMSNIALRFL 3,420
307 glztol & 40,000 40,000 0
02 QItFAEXZ 40,000 40,000 0
OxZ= 04 EUHs X 40,000
308 XX EHH SOl A 20,000 60,000 240,000
01 X HHILEES 20,000 60,000 A 40,000
O&= HHELl tHECIEWS 10,000
Ozd HAZUs XA 10,000
M s 23t 4,831,422 3,826,682 1,004,740
J| 2,076,756
< 2,754,666
MEHSE 2438 3,939,378 3,014,164 925,214
J| 2,054,234
< 1,885,144
307 glz2+0ol & 966,827 666, 134 300,693




2H: MSAED
Hu: EUASHE
el dEds 2 (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
J| 102,079
< 864,748
02 QIAHFAEXS 966,827 666, 134 300,693
Ok d&xM=sz 248X 660,203
9] 65,647
S 594,556
OoMax= X=X BiXIAY 55,776
p] 24,288
< 31,488
OZdAHE NEA EsX3 27,888
J| 12,144
< 15,744
O&E=gSgaeldl XA 103,000
OMERE NRots 4,000
O=sMei=s N=X g8 N 65,960
O=& 2 NdAH ad 50,000
308 MXIEHSOIH 2,972,551 2,348,030 624,521
J| 1,952,155
< 1,020,396
01 HXNHHBHELS 2,972,551 2,348,030 624,521
OMEN= XNEZX XA 1,486,464
J| 959,376
= 527,088
OzdxNs NEA 2K 921,984
J| 595,056
< 326,928
OdEds=ZzId 22 90,000
OAZEHIRH™AY 449,103
J| 397,723
< 51,380
OFY deEHM=z 532 Msgs & 25,000
HEH=Ua HE 2 FIOHXA 892,044 812,518 79,526
J| 22,522
< 869,522
307 gl2tol & 892,044 812,518 79,526
J| 22,522
< 869,522
02 RIZHENEXS 892,044 812,518 79,526
OMEXMsUaINE L XIS 837,000
OdeH=s sitgU 10,000
OzaMasUHE 45,044
J| 22,522
< 22,522
TS S 7,205,000 1,808,000 5,397,000
J| 5,006,000
< 2,199,000




SN HSTED
M SHMESIE
&S HoeHE |4 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
UM =s 24 645,000 544,000 101,000
307 glz2tol & 645,000 544,000 101,000
02 QIZtFAE XS 645,000 544,000 101,000
OZMA=2 29 645,000
ZoHe ME2HE =S4 1,078,000 883,000 195,000
J| 35,000
< 1,043,000
307 21201 A 1,003,000 883,000 120,000
J| 35,000
< 968,000
02 B AEXS 1,003,000 883,000 120,000
OHMAEEZXN= =&Hl = 260,000
OM=s&Hl X2 50,000
OtdFIIH K& 43,000
OFI=ZMHAMSUHE L&x 2az Xa 90,000
O=otH d=ZHWHeM=sUHa &It 190,000
Od=ZMHsHM=UI &It 15,000
OX=0al Mzl & FIHLKE 120,000
OSUHtHal =l XI& 30,000
Osd &MU X 85,000
J| 35,000
< 50,000
QX AAE 2H (20t 120,000
402 2I2H X201 M 75,000 0 75,000
01 QIZEAt=2 82 X 75,000 0 75,000
OLXI0E Xt&g 7¢ 75,000
ZOHo MEHE 4 311,000 261,000 50,000
307 eIzl & 311,000 261,000 50,000
02 QItFAE XS 311,000 261,000 50,000
OMEHSX &AL 86,000
O&LHM MEXEZX BHXI 220,000
OO0t HEMSMHEAAY 5,000
SESHMHAMSUE MHEX X 120,000 120,000 0
308 XXM SOIA 120,000 120,000 0
01 AXHHBILEES 120,000 120,000 0
OSSEMAME WX K& 120,000
ANZ B 2sEII2 K& 80,000 0 80,000
308 XtXIEHHSOIA 80,000 0 80,000
01 AXHHILEES 80,000 0 80,000
OANZE ZOHARSZIIE X2 (HAHF) 80,000




R s R SE=an);
M SHMESIE
el ZHAMSE S4 (Sl & &)
SA - BB B () - MM - BES Ol &t o San HmEET
oM =s2 AE 4,971,000 0 4,971,000
J| 4,971,000
403 MtXSHHS =0l & 4,971,000 0 4,971,000
J| 4,971,000
01 X SHMA2E X 4,971,000 0 4,971,000
OFfH=s2 HE(24) 4,971,000
J| 4,971,000
M= Jlgt Al &5 2 X 20,260,000 27,672,303 AT,412,303
2 10,566,000
J| 3,900,000
< 5,794,000
SSHSALE &5 & Ex22 1,075,000 575,000 500,000
403 MtXISHHE X201 E 1,075,000 575,000 500,000
01 XM A=2E X 1,075,000 575,000 500,000
OZgN=UE NEE=EZ 1,000,000
02014 &= HOHOIMEUHS NMEE-EL(EL 75,000
A2 MEXNSAE & EFxE22 3,020,000 1,484,500 1,535,500
403 UHtXSHHSA=0l& 3,020,000 1,484,500 1,535,500
01 HXSHMA=E X 3,020,000 1,484,500 1,535,500
OZOQ HoYAL &5 510,000
O2L72 HSAME JIseEZ 2,510,000
HEHSIAEY 636,000 936,000 300,000
= 636,000
403 A X EHHSH20lA 636,000 936,000 A.300,000
& 636,000
01 X HHMA=2LE L 636,000 936,000 300,000
OFNELSMEYERSAZT L (BTL)AIS 636,000
& 636,000
NEHEALXA 7,939,000 13,972,000 26,033,000
& 6,339,000
= 1,600,000
403 UtXISHH S =0l & 7,939,000 13,972,000 A 6,033,000
& 6,339,000
< 1,600,000
01 X SHHMA=2E X 7,939,000 13,972,000 A 6,033,000
OHNEZE2sH HE 923,000
= 523,000
< 400,000
ONMEESE2sd HE 2,000,000
& 1,000,000
< 1,000,000
OOt&A LM s 2 =& S AHBTL) 646,000
& 646,000




M MSHED
M BYHMSNE
SRl HMS JIP A 2HE Y K (EH9l:®e)
SA - EH . B9(3) - NRAY - BES 0f o il HDE
Ot ZoIHS2 A 1,624,000
z 1,424,000
= 200,000
OBUSHASHHES 600,000
Z 600,000
OO ES AT XHIE Y 1,410,000
2 1,410,000
O=MARSHERS AL 46,000
= 46,000
OBMAUHLAZAE 300,000
z 300,000
OR0iZHSSEELEY 240,000
= 240,000
ONNBESSEREL2Y 150,000
z 150,000
IOHSUH X 2,700,000 4,600,000 1,900,000
p] 2,700,000
403 XX A S K20l & 2,700,000 4,600,000 1,900,000
pJ 2,700,000
01 U EH K22 =X 2,700,000 4,600,000 1,900,000
ORLHSHE XN 2,700,000
b 2,700,000
SSHUHBHSAL N 2,800,000 3,500, 000 A700,000
2 2,800,000
403 XHXISHHI S Xt 20| ® 2,800,000 3,500,000 A700,000
z 2,800,000
01 HXISH A= =X 2,800,000 3,500,000 A700,000
OSSIMENSAE X 2,800,000
Z 2,800,000
AHATEA LK S 532,000 500, 000 32,000
= 532,000
403 XX A S K201 H 532,000 500, 000 32,000
= 532,000
01 HXSH A= X 532,000 500, 000 32,000
OFMAEE ALK 532,000
z 532,000
SRS A 1,200,000 1,200,000 0
p] 1,200,000
403 XX A S K20l F 1,200,000 1,200,000 0
pJ 1,200,000
01 IR EHH X =2 = 1,200,000 1,200,000 0
OstDHS2AAL 1,200,000
b 1,200,000
2013 LI AIC Al JIZER Ol MK 99,000 304,803 205,803




2A4: MEIEDL
Hu: EUASHE
Sel HS Ol Al 83 Y XY (29l & 2)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 99,000 304,803 A 205,803
02 It A X2 99,000 304,803 A 205,803
ONM=s3 2dxs XA 99,000
LOAHAAHSFAE X4 259,000 0 259,000
2 259,000
403 XX SHHS K20 & 259,000 0 259,000
2 259,000
01 AXESHHR=E2E X 259,000 0 259,000
OLoAHLAHEFAIE =4 259,000
2 259,000
2016 E=2H=U3 =4I 6,773,750 0 6,773,750
= 2,200,000
= 4,573,750
AIIE AEESE 6,380,000 0 6,380,000
= 2,200,000
= 4,180,000
403 XX SHHMS X201 A 6,380,000 0 6,380,000
= 2,200,000
o= 4,180,000
1 ARSI 2E X 6,380,000 0 6,380,000
02016 =2 M EUH HII& A2 6,380,000
= 2,200,000
= 4,180,000
MR EHGE X 393,750 0 393,750
308 XHXIEHSOIA 393,750 0 393,750
01 AIXSHHEMNEX= 393,750 0 393,750
OdlRE=HE X 393,750
HEES=(HSEED) 1,049,000 1,084,000 A 35,000
BEX=S 1,049,000 1,084,000 A 35,000
HOIESE2sSH SYIENYLS |z A 1,049,000 1,084,000 A 35,000
311 X 20| XFak&t 49,000 84,000 A 35,000
03 ESLHEEXL 20| AHAE 49,000 84,000 A 35,000
QO'99 MOESI2ESN HE (HEXNS) 21,000
02000 HMot=ste=2 HE(MEXZ) 28,000
601 XL S| S 4a& 1,000,000 1,000,000 0
03 EAAEXNL2S4E 1,000,000 1,000,000 0
QO'99 MOtE=SI2sN HE(HENS) 600,000
02000 HMot=ste=2 HE(MEXZ) 400,000
HHSAAY (MSEEY) 68,470 54,800 13,670
Jl23dHl 68,470 54,800 13,670




R ESE=an);
HY2LZH (WS EDL)
Jl=23tl

SA - BB (3) - NRALY - BES il
JlE2&l 68,470 54,800
201 24l 32,300 26,600
01 At 2t 2l 32,300 26,600
OMsdsge=zd 32,300
202 044l 31,970 25,200
01 SLHOIYI 31,970 25,200
ONMSHUELRFY 31,970
203 YR =&l 4,200 3,000
04 FENSEHR=LH| 4,200 3,000
OXM=zE 4,200




